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Discuss the ‘Northern Plains’ of Physiographic Regions of India with Suitable Examples.
Or

Explain the importance of ‘Himalaya’ in the Drainage system of India.

Briefly explain the ‘Dharwar System’ in the Rock formation of India.

Explain the major characteristics of Agriculture in India and critically examine the
Agricultural regions.

Or
Explain the importance of ‘Green Revolution’ in development of Agriculture.
Give the favorable condition for ‘Paddy’ and ‘Wheat’ in Agriculture of India and give the
economic importance.

Discuss the major Industrial Regions of India with suitable exampies.

Or
Explain the importance of ‘Cotton industry’ on the pattern of Indian textile industry.
Explain the importance of ‘Road way’ in economic development of India with suitable
examples.

Describe the ‘Biological characteristics’ in population structure of India with suitable
examples.
Or
Critically explain the Linguistic composition in India.
Briefly explain the ‘Population Policy’ and ‘Population Problems’ in India.

Choose the correct option and fill in blank.

Match List- | with List - [l and select the correct answer from the codes given below:

(State) .Rat(__e_gf (a) (b) (c) (d)

Literacy%) (Y G vy ) i)

(@) Bihar (i) 66.11 {B} () (i) (i) (iv)

(b) Gujarat (i) 88.70 {ct () (iv) (i) (i)

(c) Rajasthan (i)  61.80 oy @ v @ (i)
(d) Goa (iv) 78.03

Which one the following Port has been developed on a Lagoon?
{A} Chennai  {B} Mumbai {C} Kochi {D} Visakhapatnam

Which one of the following Atomic power stations is located in Tamil Nadu?
{A} Tarapur {B} Narora {C} Kaiga {D} Kalpakkam ,
(rT.0)
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(V) Which of the following sequences of the Himalayan ranges from South to North is correct?
{A} Karakoram ~ Ladakh - Zaskar - Pir Panjal
{B} Pir Panjal - Karakoram — Ladakh — Zaskar

{C} Pir Panjal — Zaskar — Ladakh - Karakoram
{D} Pir Panjal —Ladakh — Zaskar — Karakoram

(V) Match List- I with List — I and select the correct answer from the codes given below:

List — | (Industry) List — 1l {Location)
{a)  Aluminium (i) Mysore
(b) Copper Smelting (ii)  Renukoot
(c}  Zink Smelting (ili)  Vishakhapatnam
(d) Silk (iv) Khetri

(@) (b) (c}) (d)
{A}y )y (@) () (iv)
B ) (iv) (W) (i)
{c G @ vy ()
{oy i) Gv) () (i)

(V1)  Match List- 1 with List — Il and select the correct answer from the codes given below:

List — 1 (Industries) List — 11 (Activity/Technolo
(a) Cottage (i) Petroleum Refining
(b} Small (ii)  Information Technology
(c) Major (ili)  Locks Manufacturing
(d) Foot-Loose (iv) Embroidery

(@) (b) () (d)
Ay ) (@) (i) (i)
{8y (iv) (i) Gi) ()
¢ (v Gy @ (i)
{py Gy @) () (i)

{Vil) in which state of India the highest production of Wheat is found?
{A} Punjab {B} Uttar Pradesh {C} Haryana {D} Bihar



